Supporting notes for the bond wire fusing
current. Units

With respect to the fusing current expression:

The units of D are: cm

The units of AT are: Deg K

The units of C are: Joules/Deg K.g
(g =gram)

The units of p are: g/cm?

The unitsof t are: SEcs

The units of p’ are: Ohm_cm

Then inserting these units into the current expression we
get for units:

KJ ¢ 1 12

Amp=cm? * | K°.g cm’ sec.ohm—cm

Or

3 1 1/2

Amp=cm?  cm’ sec.ohm
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AP = 1/2
Volt — Amp —sec 1
o’ ‘cm’ sec.ohm
Or,
Volt—Amp 1 12
Amp = - .ohm
Or,

Amp = Amp. The units agree.
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